

Sahyadri Bahujan Vidya Prasarak Samaj's Sahakar Maharshi Bhausaheb Santuji Thorat College of Arts, Science & Commerce Sangamner

Affiliated to S.P. Pune University, Pune NAAC Reaccredited "B' Grade (CGPA 2.57), ISO: 9001-2015 Website: www.smbstcollege.com, E-mail: smbstcollege@gmail.com, Ph. No. 02425, 226076

4.1.1: The institution has adequate facilities for teaching- learning. viz., classrooms, laboratories, computing equipment, etc.

Architec R.C.C. Consultan Chartered Engineer R.No. M 111659/7 Registered Valuer R.No F-6179 R.No. CAT - 1/731 2007-08	
Arch	
This is certified that the infrast	
S.T. Arts, Science & Commerce	1.B.S
123/16, 123/17 & 123/22,	
ngamner, TalSandamner, Dist A	
isamier, rai-sandamner, Dist ,	
ROOM DATA F	
Room Name	10.
L. Ground Floor	
	.00
Gymkhana (Junior College)	
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1	.00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2	.00 .00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor	.00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE	.00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY	00 00 00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY	.00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY First Floor	.00 00 00 00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY First Floor YCMOU OFFICE	.00 00 00 00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY First Floor YCMOU OFFICE CLASS ROOM No 3	00 00 00 00 00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY First Floor YCMOU OFFICE CLASS ROOM No 3 CLASS ROOM No 4	00 00 00 00 00 00 00 00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY First Floor YCMOU OFFICE CLASS ROOM No 3 CLASS ROOM No 4 Second Floor	00 00 00 00 00 00 00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY First Floor YCMOU OFFICE CLASS ROOM No 3 CLASS ROOM No 4 Second Floor GEOGRAPHY DEPARTMENT	00 00 00 00 00 00 00 00
Gymkhana (Junior College) DIGITAL CLASS ROOM No 1 DIGITAL CLASS ROOM No 2 U. Ground Floor IT OFFICE IT LABORATORY LIBRARY First Floor YCMOU OFFICE CLASS ROOM No 3 CLASS ROOM No 4 Second Floor	00 00 00 00 00 00 00 00

B.R. Consultant B.E.(Civil), M.E.(Struct.),M.I.E.(I), FIV., VMRE.

Kauchau Saugle B.Arch., M.Arch (Computer Application)

nitecture Certificate

tructure available with SAHYADRI B. V. P. SAMAJ'S e College, Sangamner, In Sr. No.- 123/4, 123/5/4, (City S. No.- 3563 & City S. No.- 3564part) Ahmednagar, is as under.

Sr.no.	Room Name	Length			
Α.	L. Ground Floor	Length	Width	Units	Area Tota
1.00	Gymkhana (Junior College)	7.21	8.75		1
2.00	DIGITAL CLASS ROOM No 1	7.21	-		63.09
3.00	DIGITAL CLASS ROOM No 2	3.43	8.75		63.09
В.	U. Ground Floor	5.43	3.90	Mt.	13.38
4.00	IT OFFICE	7.04	-		
5.00	IT LABORATORY	7.21	8.75	Mt.	63.09
6.00	LIBRARY	7.21	8.75	Mt.	63.09
C.	First Floor	3.43	3.90	Mt.	13.38
7.00	YCMOU OFFICE				
8.00	CLASS ROOM No 3	7.21	8.75	Mt.	63.09
9.00	CLASS ROOM No 4	7.21	8.75	Mt.	63.09
).	Second Floor	3.43	3.90	Mt.	13.38
place provide					
	GEOGRAPHY DEPARTMENT	7.21	8.75	Mt.	63.09
	CLASS ROOM No 5	7.21	8.75	Mt.	63.09
12.00	CLASS ROOM No 6	3.43	3.90	Mt.	13.38
				Total -	558.21

Ph. (02425) O.225654 R. 226254, Cell : 9822310924

	ROOM DATA I	OR MAIN BUIL	DING -	2		
						T
Sr.no	o. Room Name					
Α.	Ground Floor	Leng	th Hig	ght L	Inits	Area Tota
13.	00 CLASS ROOM No 7		_			
14.(00 CLASS ROOM No 8	8.4	17 6	.80 N	1t.	57.60
В	First Floor,	8.4	7 6	.80 N	lt.	57.60
15.0						1000
16.0	00 CLASS ROOM No 10	8.4	7 6.	80 M	lt.	57.60
С	Second Floor,	8.4	7 6.	80 M	t.	57.60
17.0	0 CLASS ROOM No 11					A
18.0		8.4		80 M	t.	57.60
	10	8.4	7 6.3	80 M	t.	57.60
	BOOM DATA FO			То	tal -	345.58
	ROOM DATA FO	R MAIN BUILDI	NG - 3			
Sr.no.	Room Name					
۹.	Ground Floor	Length	High	t Un	its	Area Total
19.00	Junior college office	6.10				
20.00	Ladies Staff Room	6.10				57.71
21.00	Exmination Depart.	6.10				40.87
22.00	Gent's Staff Room	5.87				39.33
23.00	Chemistry Lab.	8.92	6.70			59.76
		11.97	9.46	5 Mt.		113.24
	First Floor,					
24.00	Biology Lab.	6.10				
25.00	Biology Lab.	6.10	9.46		_	57.71
26.00	CLASS ROOM No 13	6.10	9.46			57.71
27.00	CLASS ROOM No 14	5.87	6.70	-	_	39.33
28.00	CLASS ROOM No 15	8.92	6.70		_	59.76
_		11.97	9.46	Mt.		113.24
	Second Floor,		192			
9.00	Physics Lab.	6.10				
0.00	CLASS ROOM No 16	6.10	9.46	Mt.		57.71
1.00	CLASS ROOM No 17	6.10	6.70			40.87
2.00	CLASS ROOM No 18	5.87	6.70	Mt.	_	39.33
3.00	CLASS ROOM No 19	8.92	6.70	Mt.	_	59.76
		11.97	9.46	Mt.	_	113.24
				Total	-	949.55

•

 \bigcirc

 \bigcirc

	ROOM DATA FOR	MAIN BU	ILDI	NG - 4	4		
Sr.no	D			-			
A.		Len	gth	Hig	ht	Units	
A. 34.0	Ground Floor		0	1.118	111	onits	Area Tota
10.11	Ludies Tollet	3	.50	3.	20	Mt.	11.20
35.0	- ter e noom		.50			Mt.	11.20
36.00	somerence Room		.60		-	Mt.	12.60
37.00	1.4.10		.00			Mt.	53.35
38.00			00	3.	-	Mt.	10.77
39.00		and the second s	60	3.2	-	Mt.	10.77
40.00			80	3.2		Vit.	24.32
41.00	- oparti	10.	_	7.6		vit. Vit.	18.56
42.00	1	and the second second	90	4.0		vit. Vit.	81.32
43.00		2.0	-	3.4		30	27.60
44.00		6.3	-	13.8	-	Лt. Лt.	6.88
45.00		3.5		3.0		//t. //t.	84.24
46.00		3.0		6.7		/it.	10.62
47.00	ar each my	10.3		3.0	-	un-	20.13
48.00		10.3	-	3.00	-	1t.	30.90
49.00	Ladies Comm. Room	10.3	-	3.00	-	1t.	30.90
		10.5		5.00		lt.	30.90
1	First Floor,		_		_		
50.00	Gents Toilet	3.5		6 70		. 1	
51.00	CLASS ROOM No 20	10.3	-	6.70 7.60			23.45
52.00	CLASS ROOM No 21	10.30	-				78.28
53.00	CLASS ROOM No 22	10.30	-	7.60			78.28
54.00	Polities Depart.	13.81	-	7.60			78.28
55.00	CLASS ROOM No 23	10.30		7.60			104.96
56.00	CLASS ROOM No 24	10.30	-	7.60			78.28
_		10.50	4	7.60	Mt		78.28
	Second Floor,		_				
7.00	Geography Depart.	7.05	T	7.00	1	-	
8.00	Hindi Depart.		-	7.60	Mt		53.58
	CLASS ROOM No 25	3.41	-	7.60	Mt		25.92
	CLASS ROOM No 26	10.30	-	7.60	Mt.		78.28
	Geography Lab	10.30	-	7.60	Mt.		78.28
	CLASS ROOM No 27	10.30		7.60	Mt.		78.28
3.00 0	CLASS ROOM No 28	10.30		7.60	Mt.		78.28
	History Depart.	10.30		7.60	Mt.	11.0	78.28
	CLASS ROOM No 29	3.38		3.00	Mt.		10.14
	nglish Depart.& Language Depart.	10.30		7.60	Mt.		78.28
	Geography Lab	3.28		7.60	Mt.		24.93
	CLASS ROOM No 30	6.28		7.60	Mt.		47.73
		6.28	7		Mt.		47.73
			1		Tota	1-	1664.57

. . . .

0

 \bigcirc

Sr.no	o. Room Name		Lengt	h High	+ 110:40	
Α.	L. Ground Floo	or	Lengt	ii iigi	it Units	Area To
69.0	00 Store Room		4.4	8 3.0	DE N/+	
70.0	00 Staff Reading		4.4			13.
71.0			4.4	8 5.6	53 Mt.	25.2
	Girls Reading	Room	13.00		0	-
	Boys Reading	Room	13.00			77.7
В.	U. Ground Floo	or	15.00	5 5.9	8 Mt.	77.7
72.0	0 Library Staff		17.54	120	c l na	1
C.	First Floor		17.54	12.0	6 Mt.	211.5
73.0	0 Electronic Lab		7.36	1 5 2	-	1
74.0		rt.				38.6
75.0			8.66			104.3
D.	Second Floor		8.66	12.0	5 Mt.	104.3
76.0		PARTMENT	7.20	TEA		
77.00	CLASS ROOM N	0 - 31	7.36			38.6
78.00			8.66			104.3
		0 52	8.66	12.06	5 Mt.	104.3
	-	POOM DATA FOR			Total -	900.64
		ROOM DATA FOR		G-6	T	
Sr.no.	Room Name					
A.	L. Ground Floor		Length	Hight	Units	Area Tota
79.00						
80.00	HOD		12.00	10.02	Mt.	120.24
81.00			5.70	5.15	Mt.	29.36
82.00			7.65	8.40	Mt.	64.26
02.00			7.40	3.00	Mt.	22.20
Carlos S. Coloria	Changing Room		3.30	3.15	Mt.	10.40
83.00					A second s	Sector 1
83.00 84.00	NCC Girls		2.87	7.50	Mt.	21.53
83.00 84.00 85.00	NCC Girls NCC Boys		2.87 2.87	7.50	Mt. Mt.	
83.00 84.00 85.00 86.00	NCC Girls NCC Boys SWO				Carallel Contraction	21.53 21.53 20.25
83.00 84.00 85.00 86.00 87.00	NCC Girls NCC Boys SWO NSS		2.87	7.50	Mt.	21.53 20.25
83.00 84.00 85.00 86.00 87.00 88.00	NCC Girls NCC Boys SWO NSS YCM		2.87 2.70	7.50 7.50	Mt. Mt.	21.53 20.25 20.25
83.00 84.00 85.00 86.00 87.00 88.00 89.00	NCC Girls NCC Boys SWO NSS YCM Common Lab		2.87 2.70 2.70	7.50 7.50 7.50	Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78
83.00 84.00 85.00 86.00 87.00 88.00 89.00 90.00	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab		2.87 2.70 2.70 5.97	7.50 7.50 7.50 7.50 7.50	Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03
83.00 84.00 85.00 86.00 87.00 88.00 89.00 90.00	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab Class Room		2.87 2.70 2.70 5.97 9.07 8.20	7.50 7.50 7.50 7.50 7.50 7.50	Mt. Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03 61.50
83.00 84.00 85.00 86.00 87.00 88.00 89.00 90.00	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab		2.87 2.70 2.70 5.97 9.07	7.50 7.50 7.50 7.50 7.50 7.50 7.50	Mt. Mt. Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03 61.50 61.50
83.00 84.00 85.00 86.00 87.00 88.00 89.00 90.00 91.00 92.00	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab Class Room General Store		2.87 2.70 2.70 5.97 9.07 8.20 8.20	7.50 7.50 7.50 7.50 7.50 7.50	Mt. Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03 61.50
83.00 84.00 85.00 86.00 87.00 88.00 90.00 91.00 92.00 3.	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab Class Room General Store U. Ground Floor		2.87 2.70 2.70 5.97 9.07 8.20 8.20	7.50 7.50 7.50 7.50 7.50 7.50 7.50	Mt. Mt. Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03 61.50 61.50
83.00 84.00 85.00 86.00 87.00 88.00 90.00 91.00 92.00 93.00 93.00	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab Class Room General Store U. Ground Floor K.B. Dada Hall		2.87 2.70 2.70 5.97 9.07 8.20 8.20	7.50 7.50 7.50 7.50 7.50 7.50 7.50 4.79	Mt. Mt. Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03 61.50 61.50 39.13
83.00 84.00 85.00 86.00 87.00 88.00 90.00 91.00 92.00 93.00 93.00 94.00	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab Class Room General Store U. Ground Floor		2.87 2.70 2.70 5.97 9.07 8.20 8.20 8.17 	7.50 7.50 7.50 7.50 7.50 7.50 4.79 20.03	Mt. Mt. Mt. Mt. Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03 61.50 61.50 39.13 240.36
83.00 84.00 85.00 86.00 87.00 88.00 89.00 90.00 91.00	NCC Girls NCC Boys SWO NSS YCM Common Lab Math Lab Class Room General Store U. Ground Floor K.B. Dada Hall		2.87 2.70 2.70 5.97 9.07 8.20 8.20 8.17	7.50 7.50 7.50 7.50 7.50 7.50 7.50 4.79	Mt. Mt. Mt. Mt. Mt. Mt. Mt.	21.53 20.25 20.25 44.78 68.03 61.50 61.50 39.13

0

•

• • •

97.0	0	Store		-	9.0	7	7.6	55	Mt.	69	13
98.0	-	Lab 3			2.87	7	7.5	0	Mt.	21	-
99.0	_	-ab 4			9.07	7	7.6	5	Mt.	69	
100.00		.ab 5			5.05	;	7.5	0	Mt.	37	-
	+			-	12.17		7.50	D	Mt.	91.	-
C.	F	irst Floor									
101.00		ethany Depart.		-		-		_			
102.00		ab- 6		-	3.85		9.88	3	Mt.	38.	04
103.00	S	tore		-	7.75	-	9.88	-	Mt.	76.	57
104.00		ab- 7		-	4.47	-	3.15	-	Mt.	14.0	28
105.00	T	utorial		-	7.78	-	6.37		Mt.	49.5	53
106.00		Toilet		-	3.90		6.52	-	Mt.	25.4	13
107.00	Z	oology UG Lab 8 & Depart.		-	3.30		5.40		Mt.	17.8	32
108.00	-	ore			15.27		7.65	1	Mt.	116.8	2
109.00	-	ore			2.87		3.70	1	Иt.	10.6	10.15
110.00		b 9		-	2.87	_	3.70	-	Иt.	10.6	2
111.00	Co	mputer Lab. 10 & depart.			9.07	-	7.65	N	∕It.	69.3	9
		i depart.			17.50		7.50	Ν	Лt.	131.2	5
D.	Se	cond Floor		-			_				
112.00		ASS ROOM No 33		-							
113.00		ASS ROOM No 34		-	1.75	-	9.81	٨	1t.	115.2	7
114.00		oilet		-	1.75		9.81		1t.	115.27	7
115.00	Phy	/sics Lab & depart.		-	3.30		5.40		1t.	17.82	?
		k Room			2.17		7.65	N	lt.	93.10)
Participation and the second	Lab			-	5.97	-	5.90	M	lt.	41.19	
118.00	CLA	SS ROOM No 34		-	9.07	100	Concession 1	M	-	69.39	
		SS ROOM No 35			9.07	-		M	t.	68.03	
					9.07	7		M		68.03	
		ROOM DAT	A FOR GIRLS					То	tal -	2337.26	
Α.		Ground Floor	A FOR GIRLS	HC	STEL						
120	.00	Entrance Hall	0.0	-			1				
121		Room	8.1		5.0			-		40.99	
122.		Room	4.0	-	4.5		Mt.			18.00	
123.	00	Room	4.0	-	4.5	-	Mt.			18.00	
124.		Room	4.0	-	4.5	-	Mt.			18.00	
125.	00	Hall	4.0	-	4.5		Mt.	14	-	18.00	
126.		kitchen	4.5	-	4.0	12.00	Mt.	L		18.00	
127.	00	toilet	4.50	-	4.0		Mt.			18.00	
128.0		Dining Hall	2.89	-	1.5	-	Mt.			4.47	
129.0	-	Kitchen	16.30	-	6.3	-	Mt.			103.99	
130.0		Store	8.10	_	6.3	-	Mt.			51.68	
131.0		Toilet block	7.45	_	2.50	-	Mt. Mt.	-		18.63	
				1	5.02	-	IVIL.	-		26.97	
В.		First Floor				-					
					THE ST						

 \bigcirc

. .

 \sim

	132.0		4.0	0 4.5	50 Mt.	1
	133.0	0 Room no 2	4.0			18.00
	134.0	0 Room no 3	4.0			18.00
	135.0	0 Room no 4	4.00			18.00
	136.0	Room no 5	4.00			18.00
	137.00	Room no 6	4.00			18.00
	138.00	Room no 7				18.00
	139.00		4.00			18.00
	140.00		4.00			18.00
1	141.00		7.45			18.63
			7.45	3.62	2 Mt.	26.97
2		Second Floor			_	
	142.00		4.00	4.50	Mit.	18.00
	43.00		4.00	4.50		18.00
	.44.00	Room no 3	4.00	4.50		18.00
	45.00	Room no 4	4.00	4.50		18.00
	46.00	Room no 5	4.00	4.50		18.00
	47.00	Room no 6	4.00	4.50		18.00
	48.00	Room no 7	4.00	4.50	Mt.	
	49.00	Room no 8	4.00	4.50	Mt.	18.00
15	50.00	Toilet block	7.45	2.50	Mt.	18.00
15	51.00	Toilet block	7.45	3.62	Mt.	18.63 26.97
		Poola				20.37
		Ground Floor	ATA FOR CANTEE	EN		
15	2.00	Dirking water				
	3.00	Store Room	3.20	2.85	Mt.	9.12
	4.00	kitchen	3.00	3.10	Mt.	9.30
	5.00	Canteen	6.07	3.00	Mt.	18.21
	6.00		6.07	4.00	Mt.	24.28
10	0.00	Toilet block	7.50	6.40	Mt.	48.00

SECRETARY (Sahyadri Bahujan Vidya Prasarak Samaj Sangamner, Dist. Ahmednagar.

5

Â

Principal Sahakar Maharshi Bhausaheb Santuji Thorat College of Art's, Science, Commers & maj Computer Science College, r. Sangamner- 422605

B.R. Chakor B.E.(Civil) M.E. (Struct)., M.IV., F.I.V. Associate Architect, RCC Consultants Chartered Engineer, Govt. Approved Value

S. M. B. S. T.	College of Arts, Science & con	mmerce,	Sangamner.
	Dist. Ahmednagar		J,

Year 2014-2015

. ..

Sr.No.	Particulers	Anticipate	Actual
5.11	Non Grant		
1	Coll.dev.exp	489100	0 1125
2	Computer	5000	
3	Sanitory exps.	550	
4	Laboratory Exps	11200	
5	Labour exps.	13500	
6	Coll.garden exp.	41800	
7	Repairing and maintenance	335000	24260
8	Bulding	(
9	Furniture & deadstock	(
10	Ele.exps.	125000	
11	Water charges	(
12	Transportation exps.	0	
13	comp. Exp.		
14	others	0	
15	Ladies Hostel Exp.	0	
	Grantable	in the second	1 12204.
19	Laboratory Exps.	25000	22500
20	Coll.devopment exp.	0	
21	Repairing & maint. exp.	70000	
22	Sanitory exps.	10000	1400
23	Ele.equipment exp.	50000	
24	Water charges exp.	20000	
25	Transport exp	5000	0
26	Other exp.	5000	734
27	Furniture & deadstock	0	, , , , , , , , , , , , , , , , , , , ,
28	Peon uniform exp.	0	0
29	Botanical garden	25000	0
30	Identy card Exp.	0	0
31	science Equipment	0	118688
32	building maintaance	300000	110000
as is	<u>Total</u>	62,05,300	2,765,452

Cote-EN LU

Principal S.M.B.S.T. College Sangember

· ····

	Dist. Ahmedn Year 2015-20	016	-
0.11	Physical facili	ities	
Sr.No	1 al ticulei s	Anticipa	ite Actua
	Non Grant		
1	Coll.dev.exp	15000	000
2	Ele.fitting	1200	000
4	Comp.Exps.	600	
5	Sanitory exps.	650	
	Laboratory Exps	1400	
6	Labour exps.	1400	
7	Coll.garden exp.	550	
8	other Exps.	850	
9	Repairing and maintenance	5000	
10	Bulding construction	and the second	0 128261
11	Furniture & deadstock	1500	
12	Ele.exps.	13500	
13	Water charges	2000	
14	Transportation exps.	2000	
15	Vehical hire charges	2500	-
16	Lab.Equipment	5500	
17	battries & UPS	15000	
	Grantable	13000	0 0
18	Laboratory Equipment	40000	102205
19	Cycle stand exp.	10000	
20	computer Exp.		055
21	Coll.devopment exp.		6969
22	sports equipment		0 0
23	Repairing & maintenance	((=======
24	Sanitory exps.	50000	
25	Ele.exps.	25000	01000
26	Ele.equipment exp.	300000	
27	Water arrangments	50000	0
28	Transport exp	20000	· • ·
29	Other exp.	5000	-
30	Furniture & deadstock	0	5180
31	Peon uniform exp.	200000	174770
32	Botanical garden	25000	0
33	Buldg.maintenance	50000	0
	consultancy Exp.	300000	0
35	rates & taxes	0	7500
	Lab.Exp	0	139255
	Total	0	1616
	0144	41,40,000	30,90,051

S. M. B. S. T. College of Arts, Science & commerce, Sangamner, Dist. Abmednacor

College Code No. 201 Sansamnar ID No. FU/AN/ ASC/035/(1990) inter Science Co.

Sahakar Ma

Principal Sahakar Maharshi Bhausaheb Santuji Thorat College of Art's, Science, Commers & Computer Science College. Sangamner- 422605

	Year 2016-1	7	
0. 11	Physical facili	ties	
Sr.No.	Particulers	Anticipat	e Actua
	Non Grant		
1	Coll.dev.exp	5000	0
2	Ele.fitting	0	0
3	Comp.Exps.	180000	9330
4	Sanitory exps.	50000	46621
5	Laboratory Exps	2250000	106554
6	Labour charges	0	122960
7	Xerox exp.	3500	0
8	Coll.garden exp.	0	0
9	cycle stand Exp.	1000000	91225
10	Misc.Exps.	90000	0
11	Repairing and maintenance	75000	37085
12	Bulding	1450000	0
13	Furniture & deadstock	850000	1040994
14	Ele.exps.	150000	79600
	Water charges	15000	0
16	Transportation exps.	0	0
17	other Exp.	130000	88446
	Grantable	150000	00440
18	Laboratory Exps.	125000	198091
19	Lab.Perisible Exps.	0	
20	Lab.Exp & deadstock	0	0
21 (Cycle stand exp.	5000	63025
22 0	Coll.devopment exp.	0	03025
23 5	Science Equipment	100000	98802
24 0	Computer Exp.	10000	5740
25 F	Repairing & maintena, exp.	75000	
26 S	anitory exps.	10000	83002
27 E	electricity exps.	400000	0
28 E	le.equipment exp.	0	198298
29 V	Vater charges exp.	10000	0
30 T	ransport exp	5000	5235
81 0	ther exp./TDS	5000	0
2 F	urniture & deadstock	200000	10025
3 P	eon uniform exp.	25000	658158
4 W	ebsite exp.	250000	0
5 B	otanical garden Exp.		0
6 M	isc.exp	50000 ;	5200
7 Bi	uldg.maintenance	30000	0
8 lat	oour charges	300000 30000	0
	otal	78,78,500	0

S. M. B. S. T. College of Arts, Science & commerce, Sangamner, Dist. Ahmednagar

60

Principa) axar Maharshi Bhausaheb Santuji Thorat College of Art's, Science, Commers & Computer Science College, Sanoamner- 422605

College Code No. 201 Sangamner ID No. FU/AN/ ASC/035/(1990)

i Ans.

"en 10

	Ye	ear 2017-18		
Sr.No	Phys	ical facilities		
51.140	1 al ticulei s	Anticipate	Actual	and shink shines
1	Non G	rant		
2	Coll.dev.exp	0	191719	
3	Ele.fitting	0	113467	
4	Gym.Exp.	50000	73700	
5	Comp.Exps.	1025000	67416	
6	Sanitory exps.	50000	10940	
7	Lib.Exp.	0	0	
8	Laboratory Exps	2250000	2654292	
	Labour exps.	0	0	
9	Lab.Equipment	0	0	
10	Coll.garden exp.	0	0	
11	Repairing and maintenance	50000	214050	
12	Building	550000	0	
13	Furniture & deadstock	1450000		
14	cycle stand exp.	150000	4409170	
15	Water charges	25000	33091	
16	Electricty Exp.		0	
17	other Exp.	0	20890	
18	Rent	25000	128599	
19	sweeper charges	0	6500000	
	Grantab	0	213081	
20	Laboratory Exps.			
	comp. Exps.	250000	179755	
	science equipment	15000	26977	
23	Cycle stand exp.	1170000	0	
24	Gymkhana exps.	75000	58300	
25	Coll dougram	85000	146210	
26	Coll.devopment exp.	0	44194	
27	Repairing & mainten. exp.	100000	141457	
	Sanitory exps.	15000	0	
	Electricty exps.	200000	176267	
	Water charges exp.	10000	82014	
30 1	Fransport exp	0	0	
31 (Other exp.	0	9425	
32 F	Furniture & deadstock	3200000	234297	
3 P	eon uniform exp.	0	0	
4 E	Botanical garden Exp.	50000	28495	
5 a	dveretisment Exp.	0	16898	
6 B	uldg.maintenance	250000	0	
<u> </u> <u>T</u>	otal	1 10 45 000		1
	Antay Istudy Ist	College Code No. 201 Sanganner In No. PU/AN/	Sahakar Mahar College of	Principaí shi Bhausaheb Sant Art's, Science, Commuter Science College

S. M. B. S. T. College of Arts, Science & con

	Year 2018-19 Physical facilities		
~ ~ ~			
Sr.No.	Particulers	Anticipate	Actual
	Non G	rant	
1	Coll.dev.exp	-	
2	Ele.fitting	-	12111111111122
3	Gym.Exp.		
4	Comp.Exps.		
5	Sanitation exps.		274,500.0
6	Lib.Exp.		Della Herris
7	Laboratory Exps	1,000,000.00	312,407.0
8	Labour exps.		Constraints and
9	Lab.Equipment		100000000000000000000000000000000000000
10	Coll.garden exp.	-	
11	Repairing and maintenance	a la transfer de la compañía de la c	506,628.00
12	Bulding rent	6,500,000.00	6,500,000.00
13	Furniture & deadstock	1,550,000.00	1,318,432.00
14	cycle stand exp.		
15	Water charges		
16	Electricty Exp.	_	1011 111 11 11
17	other Exp.		
18	Rent		
19	sweeper charges		
20	bulding maintance	500,000.00	
	Granta		The second second
20	Laboratory Exps.	100000	163334
21	BCUD equipment grant		187,400.00
22	Municipal tax		307,979.00
23	softrware exp		155,673.00
24	comp. Exps.	a strange and the second	33,910.00
25	Cycle stand exp.		
26	Gymkhana exps.	_	156,608.00
27	Coll.devopment exp.		130,008.00
28	Repairing & mainten. exp.		214,194.00
29	Sanitory exps.		214,194.00
30	Electricty exps.	-	186,250.00
31	Water charges exp.		8,456.00
32	Transport exp		8,438.00
33	Other exp.		
34	Furniture & equipment	250,000.00	250 589 00
35	Peon uniform exp.	230,000.00	350,588.00
36	garden Exp.		10 755 00
37	Buldg.maintenance		12,755.00
38	RACCA Infotech Pvt Ltd		
39	Laboratory Exps	250,000.00	
210	total		7 4 4 0 5 5
	W.B.)7,14,955 +
	College Code-201		F

S. M. B. S. T. College of Arts, Science & commerce, Sangamner,

Detail of Infrastructure facilities available for teaching-learning summarized as follows:

Sr. No.	Description	Number
1	Academic Blocks	06
2	Classrooms	41
3	ICT Classroom	10
4	Computer Laboratories	07
5	Other Laboratories	13
6	Seminar Hall	02
7	Library	01
8	Language Laboratory	01
9	Computers	217
10	Reading Hall	02
11	Ladies Common Room	01
12	Health Center	01
13	Competitive Exam Center	01
14	Browsing Center for students	01
15	Printers	37
16	Scanner	07
17	Xerox Machine	04
18	LCD/LED Projector	16
19	Ladies Hostel with 100 Seats	01

















